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� !� ��$��� ���
�
 ����� #$%� O8* S4$� Z<�+ H$�
�� �$Ka =� �+$�&� ��$�
�-T�&� [
���
 Z+���&� #$%�
 i���� !� S4$� j���+ k��� A9���� O'>���� U$8
�L� .
���� �� � ���
��� ��-� IW 

 i��<�����'*��� ������� �������� ���
� ��-�W ��&{$'��� ����� .  

 U
�_� 9 47���� 3$a7��� iL$l �&��� U$'>�L� g� A�W$P�� U$8
�L5� ��$x 9
1 .  

 U
�_�1  

 ����� ����� ����� �
�DTTB  

 ���� ����

	
���� 
 

�
�� ��� 

VBER > 2 × 10–4 
VBER ≤ 2 × 10–4

 

����� CBER ≥ 10  

VBER ≤ 2 × 10–4
 

���� CBER �� 10 

!100  

VBER ≤ 2 × 10–4
 

����� CBER < 100  

E < E70 Q1 Q2 Q2 Q2 

E70 ≤ E < E95 Q2 Q3 Q3 Q4 

≥ E95 Q2 Q3 Q4 Q5 

CBER : ������ "���BER ������ !� BER#$%�& '�� .  
VBER : ������BER#$%�& �()   

����CBER  = CBERmin/CBER 

w�x:  

E70 
E E95 2B�� ��L���� $����� U$^� S�G OP� �$'�x� ����� ������7�* Z*��� $ 70 % 
E 95 %)  g��hDTTB O2-�� A
5)  �>8�2002 ( �������
ITU-R BT.1368 .( �'�* �'�>�
E70 
E E95

 

�'�>�� O�fT��� Y&� .  

CBERmin �8�� �'�* i� CBER �8�� =�f� $���� VBER �'�
&� �+
$�� 4-
10 × 2)  ��GQEF ( U�>� Y&� �'�>�


�� �-T����'�> . ��* 4��
CBERmin U
�_� 9 �$�4E �&'>���� 3B�fT��� �%>� 2 . ���� 5 ��
�� ��� =E �%xB� 7��

O�fT��� Q�� 
E 44��&� n$
�
 .��1�� �-T��� 35�>� ��* �+�o�� 3$L�7��� !� �+,�� c��a@ ���� id�
+
 .  

 U
�_�2  

 ���CBERmin��
�� ���� �!"#�   

��� $"#%���  CBERmin 

2/3 
2–
10 × 4 

3/4 
2–
10 × 2 

                                                      

2 E70! E95�����*� �+��%, -�� /�01%�� 2�� 3�45� '67 8� 9�; . 
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� !� ��$��� ������� �&L OPv
"m�_� �{�� "n$d+E . �'�* Oh
Q ���4 i� E �8����
 BER .
 Sc��*
Q2V&� i
��� Q	� Y&� Q��R��� c��a@ 9 ������ $����� �'�
�� !� O*E U$^� S�G =E }>� U
� . ��� OP� 9


3B1����� !� �+$'X� =$'< !fv 5 35$X� . Sc��*
Q2  7�K� }>� iLE��� Q	� Y&�"m�_� �{�� ." 9
X� ~
�� ��$
 N�� b�o��� !fvQ3i����� Q�� O+�>�W 
E U$L7F� S7�* S4$+,W . N�� b�o��� !fv ���$P�� ��$X� 9
 Q3 ��-R�W 

3����� S4�>�� 3B1����� �+�L 
E 3B1����� .  

5   ����
�������� ������   

 6$-�7� Y&� Z��+
 k7$2�� Y&� H$�
�� !� 6���� ��� 9 i����� Z<�+10 m [�� n$8+�
� ;�L i����� Z
+ w�� "7�� 
 [���8&_���&�� 3$*�>�� 
E . �a���+ k��� A�W${ U$8
�L� #$%� 4$'��$W s�.
 �*
 kE 9 H$�
�� t�$�� �$���L� !fv
 

 3$�q 9 S4$��8*���� . Y&� S4$� k�� k��� Ai���� ���
��� 9 ��L n���-� =�f+ =E !fv 5 �W${ 6$-�7� Y&� H$�
��

 6$-�7�10 m [�� ;�L "7�� ) 9 O'>���� ���. �� 6$-�75� ���
Q��R��� "���� S�'�>�� 7$T��5$W `8���� �
+�� .(  

 U$^� S�G j*��� ��
�
X� 6$<
�� 9
z�
��7$T��� 3���� S�� !� �&8
���� 3�7$GF� !+�f� 7�� Y&�  . As���

!� Oh Y&� ���$K��� �V����� �'�>� :U$^� S�G 9 iLE��� �����
 U$8
�L5� i���� Z*�� .�� O'>�L� �.@
 j2�W U$8
�L� i��

S4�q 35$x �B{ �+�D !fv A�a�� U�� :  

�   U$^� ��$f+ M�a��� U�� j2� !� O*E U$^� S�G 9 iLE��� ����&� ��2
�� ��
�� IW [�-�� =�f+z�
�� s�. 
M�G$8� ��� U$V� �$	�  

 

�	�<� �5�� 

����%�� 
��> 

 ����%��
?�� 

2@A	 BC

D$E� BFG� �0��

2@A	2@A	 9	 '4&� 
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�  S�G 9 iLE��� ���&� ��2
�� ��
�� IW [�-�� =�f+j2� !� �hE U$^� M�a��� U��  U$^� S�G =�f� =E !fv 
z�
��M�G$8� ��� U$y !� O*E 
E !� �hE   

�   !� �hE 6$-�7� Y&� U$V'&� ��2* �'�* U
E 
�8�10 m U$^� S�G �+�,��
 Mz�
��6$-�75� Z�  .  

 ���
��� ��� 9 Z
+ =$h �.@ Q
� ���	� U$y ,��'�� �W${ 6$-�7� Y&� H$�
�� U$'>�L� !fv
Q4
 Q5 : S�G =E }>+ ���

 !� �hE U$^�EminU$L7F� S$�* 9 3$W���<5� �8��
  . �'�
�� QW7 !fv A35$X� ��� OP� 9
���
��" ��xB� �
��� ."

B2�� �
��� ��� 4�  =E g�
 �����
 AOL�'&� �8���$W ��$���
 A���8�� H$LE Y&� ��xiLE��� 6$-�7�
 U$^� S�G 9 
 ~
�� ��2
�� �'�
��� S�T�U$^ . =E ~@ ��&{$'��� 3�7$GF� ���
� U$y 9 �8��f�� S�	� �T�
��* j2� �
��� 
 ¡&8+ =E !fv ��xB2��10 kmY2*E �oh  .  

� ������� t�$�� ��$h �.@ !� O*E ����<��Q4 S�G 9 i
��� ����� ¢ U$^� S�G 9 iLE��� ������ ���
� k7
�d�� !� A
���� �1£ 9 U$^� .  

 ���$8�� ����<��� ������� t�$�� �T�
Q4 
E Q5 ����� �$¤@ ~@ "�'�B� !� Od�E "$K'��
� k7$_� ���R&� .  

6  ���� ��� � ��!"
� ��#$
�  

S�G ���� 6$-�7� Y&� i����� Z<
 ��&'� UB1 7��'�L$W 3$�8�� 9 ��	� �8��
 U$^� 10 m"7�� ;�L [��  . j*���

�$-�75� Y&� ����>�� Y&�
 ���� 3$8�h�� j&�� Y&� ��
��3$�d-R���  . !� O*E �'�
�� ����<��� ������� ��$h �.@
Q4 

 ¡&8+ i���� 6$-�7510 m
�d�� !� An$8+�
�  ����<��� ������� �a74 �
$¥ ¦ �.@ $� �
o��� k7Q3 Z<
 ��&'� UB1 
�>*�� 9 i����� .U$8
�L5$W ;'�+ w�� i����� Z<
 �+�D g�
 . �a74 ��>�
 ������� ��� OP� 9 �'�
�� ����<���


 ��54 3�. 35$X�\7�+ iLE��� ����� (VV)H$�
�� t�$�� 9 OV���  .=E §xB+
 ¡&8+ =E !fv ��xB2�� �
��� ��� 
km 2�+�
� Y2*E Y&�  .  

 �a7��� =�f�
Q3Q��R��� #$%� 9 S�'�>�� ������� �+��� �&{$� ����<��� �����&�  .  

7   ���� ��� � ��%&� �#$
�  

 !� O*E ����<��� ������� ���
� �a74 =�f� U$^� S�G 9 i
��� ����� �
+�� U$'>�L� ���
Q3 !� s���
 An$'��4 
 7$��1� Y&� j*��� �V����� ��� ��$h �.@ $� �
o��� k7
�d����L ��* �
���� Y&� j*��� ��$h �.@ $� 
E H$�
�� ��
�� 

�L�7��� .  

~
�� !� �8+�* ��1E H$�* �$
� 7$��1� k7
�d�� !� 35$X� ��� OP� 9
 . ��1E S�� S�+�_� �$
��� ��� 3�-LE �.@

a74 !� !� O*E 3$Q3 ¨���� ����
 $K�&� U�2X� ¦ �V��� Od�E i� ��54 �Ph�� �V����� =E ~@ S7$GF� 7�� A
��xB2&� .$KL$�* ��a J�� �$
��� IW ��$��� Z� ��xB2�� ��� gL$��+ =E g�
 .  
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 �����2  

���	
 ��
����� ��
���� ������ ������ �������  

��� ������ ��
 ����� ��!��� ��"�B  

1  '����! (�)	�*)  

 �o&�� U
$��+1��'*��� ����+,-&��� 3$��	� �+�
�� �&L U$'>�L$W ����<��� ������� ���
�� �
+��  . Y&� �
+���� ��� #�
�

 ©����� H$�
��)���	� c$�{E ( 3$�8�� 9 ��	� �8��
 4�q 6$-�7� Y&� U$^� S�G !� Of�) O8*CBER�-T� �>W
  ����� 

VBER .(�-&f��� ���$� H$�* S,Ka�W S4
,� 3$8h�� 4�a
 �
+���� ��� g&��� �*
 .  

 U$'>�L$W s�.
 S7$GF� ����� ���
�� ZL�
 [$�� Y&� S7
�< 4�a
 Z*���� !� A��'*7 ���1 �T�� ~
�� Ox���� 9

��+ J�� s&� ��$1
 A�-&f��� �d-R�� H$�
�� 3�,�K¥ !� ������ ���'y g�h�� Y&� =�'�$
�� ;a7�� Y&� $K&'>

If&K��'&� ���
��f�F� 3�,�KV��� . �
+��&� �&{$� ��'*��� ������� ���
�� ���8� �
+�� Z<
 ���
+ A�a$X� ��� ��8&��

 i&{$'��� =�+,-&��� Y&� �'�$
��)S7$GF� ������ i��<��� ���
��� g�$a ~@ S7$GF� �+�L H$�
� .(  

U$'�E I8�
L$�* !'d�+ b��T� H$�* c��a@ =E H$�
�� n$T�$�
 ����� �� S$�* S7$G@ S7�
� n$ C/N Y�>+ O�>&� �8���$W 
'��
�n$nB{$� S7$GF� ������  ��&� U�2X� ��+ k��� ���
�&� ��*�{��� w�x !� n���
>� �PhE �
+�� U$'>�L$W . ��E A}>+ ���


�'�*
 S7$G/� �+�L Y&� U�2X� ¦ �.@ ª�$� C/N Z<
 9 =�f�L ��$T�� =E "����� ��$X� ��� 9 !fv AI�'�B� 
��'*7 3�7$G@ U$8
�L� !� ��fv . �L$
�� ª����$W ��7$
�� ix��
C/N
 BER $K�&� U�2X� ¦ O{$'�� ª�$�� �'�* =E 

 Q�W�� �
+���� ��>� ¢ !�
 }>�� 7$8�15� Z*�� =$h n$+E �'&>� Of�" ª�$��+���� "�+$��� ��� ��
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